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Wheat, rye and respective flours, durum wheat and durum 
wheat semolina — Determination of the Falling Number 
according to Hagberg-Perten 

TECHNICAL CORRIGENDUM 1 
Blés tendres, seigles et leurs farines, blés durs et leurs semoules — Détermination de l'Indice de Chute selon 
Hagberg-Perten 

RECTIFICATIF TECHNIQUE 1 

Technical Corrigendum 1 to ISO 3093:2004 was prepared by Technical Committee ISO/TC 34, Food products, 
Subcommittee SC 4, Cereals and pulses. 

                               

Page 11, Figure B.1, Key 

Under 1, line 2, and under 2, line 2, amend the left hand sides of the equations to read, 
“correlation coefficient: R2” 

Page 11, Clause B.2 

Delete the existing text and insert 

A test conducted by the Bureau interprofessionnel d'Études analytiques (BIPEA) between 11 laboratories (of 
which results from 10 were retained) on three wheat samples gave the statistical results [assessed according 
to ISO 5725:19864)] shown in Table B.2. 
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Page 12, Table B.2 

To show updated data for sample 1, delete the existing table and insert: 

Table B.2 — Data for Falling Number for wheat 

Values in seconds 

 Sample 

 1 2 3 

Mean value 82,1 207,1 379,1 

Repeatability standard deviation, sr 2,5 9,5 10,7 

Relative standard deviation of repeatability, % 3 4,6 2,8 

Repeatability limit, r (2,8sr) 6,9 26,9 30,3 

Reproducibility standard deviation, sR 7,5 16,5 36,0 

Relative standard deviation of reproducibility, % 9,2 8,0 9,5 

Reproducibility limit, R (2,8sR 
) 21,3 46,7 101,8 

Page 12, Figure B.2 

Delete 1 and 2 in the existing key and insert: 

1 reproducibility equation: y = 0,274 x − 4,445 
 correlation coefficient: R2 = 0,986 

2 repeatability equation: y = 0,075 2 x + 4,612 
 correlation coefficient: R 2 = 0,786 9 


